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Note : ( 1) Answers must be written in Enghsh

(i) Number of marks carrzed by each question are

mdtcated at the end of the questwn _

L i (m) Part/Parfs of the same queshon must be answered

together and should not be interposed between . -

answers to other questions.

. (iv) The unswér to each question or part tkereof
should begm on a fresh page.

(ﬁ) Your answers should be precise and coherent.

(vi) C.;mdz'dateq should attemjr?f Q. No. 1 and 5 which
are compulsory and three of the remaining
questions selectmg at least one question from each
Section.
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SECTION - A

1. Write notes on ahy two of the following (Each ans:
- should not exceed 200 words) :

(a) Casteism :
(b) Youth Unrest
(c) - Seculari’s_m_
- (d) Problems of ethnic minorities
g E?(amjne. the historical roots of Indian society a
~ identify the factors of continuity and change in it. = -
3. Explain politicization of caste and analyse the factc
 responsible for caste conflicts in India. (
4. Examine  how women's perception. on  wor
traditional position of authority and role expectatior

have affected their status in fémi_ly and in socief
today. = b o~ S g

SECTION-B
5. Write 'no?és on -aﬁy two of the fbllowing_' (Each answe
should not exceed 200 words) - i

() Rural poveﬁy and ﬁdebtédness = 3
(). Corruption and Black Money ' 3
(c) Tribal unrest in India ' _ | 3C
(d) Westernization _ _ : : 3C
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Analyze the structure and functions of family and
neighbourhood relations in rural and urban India. Is

- family a sensitive recorder of changes taking place in
"~ the soc1ety ? Explam ) =1 ) 60

. Discuss the irﬁpact of population growth on the

contemporary Indian society. Suggest ways and
means to reduce the pmblem of population explosion

_mIndla i : _ 60

Can - ‘Education be con31dered an age:nt of social

change 7 In What manner can it establish a new social

Coorder? - L _ ; 60 -

(3) 3,400




